
Operations with Quaternary Numbers (E)

Calculate each answer.

31214
× 314

114)333134 30134
− 10334

101034
− 30114

204)1000204 33104
× 134

11304
× 104

33134
× 224

12234
+ 21334

324)2312324 10024
+ 3014

214)1131334

32304
− 11324

10004
+ 2124

33024
+ 23234

23324
× 134

122204
− 23234

30124
× 324

3134
× 204

22114
+ 30304
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Operations with Quaternary Numbers (E) Answers

Calculate each answer.

31214
× 314

2300114

114)333134

30234
30134

− 10334
13204

101034
− 30114

10324

204)1000204

20014
33104
× 134

1222304

11304
× 104
113004

33134
× 224

2122124

12234
+ 21334
100224

324)2312324

31014
10024

+ 3014
13034

214)1131334

22134

32304
− 11324

20324

10004
+ 2124
12124

33024
+ 23234
122314

23324
× 134

1103024

122204
− 23234

32314

30124
× 324

2231104

3134
× 204
123204

22114
+ 30304
113014
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